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Problem 1:#7% iTd %_Newbie Composer
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Problem 2: & %+ € 3% ® Molar Mass Calculator

it 53¢ (chemical formula) 2 - f&* & £ 75 it 4 5 o= r”ﬁ;‘—? v A3
Am3¢ RF R+ E2froj £t &4 Zd g C(Carbon)~ & H (Hydrogen)-
3 O(Oxygen) > 22 % N(Nitrogen) = fa/n + o= > pte AR+ FRhF 40T
AT
Ja+ ¢4 | B¢ C(Carbon) | & H (Hydrogen) % O (Oxygen) % N (Nitrogen)
VR 12.01g/mol 1.008 g/mol 16.00 g/mol 14.01 g/mol

blde AT £ 4 B M A 3 ¥R (CoHsOH > 47 ) » #4352
2_94.108 g/mol » 3+ & ;840

6 x (12.01 g/mol) + 6 x (1.008 g/mol) + 1 x (16.00 g/mol).
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Problem 4: g % en& §* Super Queen
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Problem 5: 3 % * Meeting Room
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